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SOLVE LINEAR EQUATIONS: Worksheet 2

Simplify each expression using the distributive property.

1) -2(x-7) 2) 3(y-4) 3) 2(-6w +5)

Solve these one-step equations.

Yo,
4 x-3=-5 5) _7
6) t+1=-12 7) 4n = -60
Solve these two-step equations.
8) 3x—-2=25 9 —-2y-8=-6
10 Li.3_g 11) —5r—1=-41
3
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Solve these multi-step equations.

12)  5(y+6)+y=96 13) —-4(2x-1)+6x=-2

14)  9(2w-1)+4w-10=-85 15) 2t-3)+4(-2t+3)=6

Solve these multi-step equations with variables on both sides.

16)  3(8z+1) =4(2z-2) 1) 5@y -2)=-2y+4y-7

18)  8(x+3)+4x=23(4x+38) 190  —2(w+8)=2(-w+6)

20) 2(r+3)=-3(r-1)
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KEY
SOLVE LINEAR EQUATIONS: Worksheet 2

Simplify each expression using the distributive property.

1) -2(x-7) 2) 3(By-4) 3) 2(-6w +5)

—-2x+14 15y -12 -12w+10
Solve these one-step equations.
Yo,

4 x-3=-5 5) —7
X—3=-5 LZZ
X-3+3=-5+3 -7
X =2 Y e 7-2e-7

y=-14

6) t+1=-12 7y  4n=-60
t+1=-12 4n =-60
t+1-1=-12-1 4n  -60
t:—13 7_ 4

n=-15
Solve these two-step equations.

8) 3x—-2=25 9 —-2y-8=-6
3Xx—-2=25 —-2y-8=-6
3X—2+2=25+2 -2y-8+8=-6+8
3x =27 -2y=2
x_27 -2y _ 2
3 3 -2 =2
X=9 y=-1

10) £+3=8 11) -5r-1=-41
3 -5r-1=-41
t -5r-1+1=-41+1
3738 _5r = 40
t -5r -40
—+3-3=8-3 — =
3 -5 =5
t r==8
—=5
3
t
—e3=5e3
3
t=15
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Solve these multi-step equations.

12)  5(y+6)+y=96 13) —-4(2x-1)+6x=-2

_ —4(2x-1) +6x=-2
S(y +6)+y =96 8X+4+6X=-2
5y+30+y =96
6y +30 =96 —2X+4=-2
6y +30—30 = 96 - 30 —2x+4-4=-2-4
6y = 66 —2x=-6
y=11 X=3

14)  9(2w-1)+4w-10=-85 15) 2t-3)+4(-2t+3)=6
9(2w-1) + 4w —-10= -85 2(t-3)+4(-2t+3)=6
18w —-9+4w-10=-85 2t—-6-8t+12=6
22w —-19 = -85 -6t+6=06
22w —-19+19=-85+19 -6t+6-6=6-6
22w = —66 -6t=0
w=-3 t=0

Solve these multi-step equations with variables on both sides.

16)  3(3z+1) =4(2z-2) 17)  -5@3y—-2)=-2y+4y-7
3(3z+1) =4(2z-2) —5Q@y-2)=-2y+4y-7
9z+3=8z-8 -15y+10=2y -7
92+3-82=82-8-8z —-15y+10-2y =2y -7-2y
z+3=-8 -17y+10=-7
z+3-3=-8-3 -17y =-17
z=-11 y=1

18)  8(x+3)+4x=3(4x+38) 19)  —-2(w+8)=2(-w+6)
8(x+3)+4x =3(4x +8) —2(w+8) =2(—w+6)
8X+24+4x=12x+24 —-2w-16 =-2w+12
12x +24 =12x + 24 —2w-16+2w =-2w+12 + 2w
12x +24 -12x =12x + 24 —-12x -16 =12
24 =24 No solution
All real numbers

20) 2(r +3)=-3(r -1
2(r+3)=-3(r-1)
2r+6=-3r+3
2r+6+3r=-3r+3+3r
5r+6=3
5r+6-6=3-6
5r=-3
or_-3
5 5

3

r=——
5



